Marking Scheme
Class- XII
Military Science

Time Allowed: 2 %2 Hours Max. Marks: 60
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General Instructions:

1-
2-

All questions are compulsory.

Question no. 01 has 15 questions, which consisting of 06 multiple choice questions, 03
fill in the blank questions, 03 one word answer type questions and 03 Assertaion-Reason
questions. Each question is of 01 mark.

Questions no. 02 to 07 are very short answer type questions, out of which 02 questions
have internal choices. These are to be answered in 40 to 60 wards. Each question carries
02 marks.

Questions no. 08 to 13 are short answer type questions, out of which 02 questions have
internal choices. These are to be answered in 60 to 80 wards. Each question carries 03
marks.

Questions no 14 to 16 are essay type questions; all the questions have internal choice.
These are to be answered in about 250 words. Each question carries 05 marks.

Q.No.

Value Points/ Answer MM

Multiple Choice Type Questions 15x1=15

1(1)

IRA BT J& J§& <P o 1
() 3o

() Pt

()

(&) ST & BIS TTE
ITR— (P) 35 A
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The main battle tank of India is:
a) Arjun
b) Karan
c¢) Bhim
d) None of these
Answer- (a) Arjun

1(2) AT GReTl §cf BT T3 D fbar Tar?
(@) 01 faHaR, 1965
(@) 02 faHw R, 1965
(1) 03 faHaR, 1965
(&) 04 f&<aR, 1965
IAv— (@) 01 &9, 1965
When was Border Security Force (B.S.F) formed?
a) 01 December, 1965
b) 02 December, 1965
¢) 03 December, 1965
d) 04 December, 1965
Answer- (a) 01 December, 1965
1(3) IR AT &1 e BHvS & Jared Red &
(®) o=
(@) deIhT
(m) g%
(&) BraH
SR () qFE
The Head Quarter of Western Command of Indian Navy is situated
at:
a) Chennai
b) Calcutta
¢) Mumbai
d) Cochin
e) Answer- (¢) Mumbai
1(4) Ugel T @1 99 B! SHTS o

() FerTfera
(@) ®AT
() e
(&) A=
SIR— (") AR
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The smallest unit of Infantry is:
a) Battalion
b) Company
c) Platoon
d) Section
Answer- (d) Section

1(5)

ﬁw%r@ﬁﬁﬁaﬁ?m‘cﬁummaﬁ%ﬁ%:

) TR
)Q@ﬁw

(
() SR
(@) T & 15 TE

JA¥— (M) SHRel

—"(él/él\

Which one of the following is the rank of Indian Army?
a) Air Marshal
b) Admiral
c) General
d) None of these
Answer- (c¢) General

1(6)

TR A9 RT T qdied HHVSY &
JRUAIN

) Su—rszufa

(1) YETTHAT

(g) 3&r 70

SN (@) wsgufa

43

The Supreme Commander of Indian Armed Forces is:
a) President
b) Vice President
¢) Prime Minister
d) Defence Minister
Answer- (a) President

1(7)

AT U & do1 doldl a— [ha- Har?
STR— Auiferaq

Who said “Army marches on its stomach”?
Answer- Nepolean
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1(8)

0T T 27

IR— vud) 3o Farse

What is Nag?
Answer- Anti-Tank Missile

1(9)

T G DI FIRA AT R Bl 27?
IR— 91Ig, AT

Which armored force established the Air Supremacy?
Answer- Air Force

1(10)

The National Defence Council is established in....................
Answer- 1962

1(11)

TRART TG TBTEH oo T Rerd 2|
IT— QBIGH

The Indian Military Academy is situated at.........................
Answer- Dehradun

1(12)

AT TUS 2] GEAD BT ORID oo 2 |

ITR— SoywHoHIo HelR

‘The Armament and History’” book writer is...........................
Answer- JFC Fuller

1(13)

BT (A) — USdl T DI g &3 DI I D BT H ST Sl
gl

HRI (R)— I8 Uq I8 IR g ¥ AT WA Bl ofels a2 |
(@) 3AAHAT (A) 3R HROT (R) SH T T |

(@) BT (A) 3R HRUT (R) THT 3RIT © |

(1) 1B (A) | € olfde R (R) JAI & |

() AMDHAT (A) FFA & WAfb BROT (R) T 2 |

SR— (@) AfderT (A) 3R SR (R) < 9 2

Assertion (A)- Infantry is known as ‘Queen of the Battle field.’
Reason(R)- It fights face to face with the enemy on foot.
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a) Both Assertion (A) and Reason (R) are true.

b) Both Assertion (A) and Reason (R) are false.

c) Assertion (A) is true but Reason (R) is false.

d) Assertion (A) is false but Reason (R) is true.

Answer- (a) Both Assertion (A) and Reason (R) are true.

1(14)

AMABAT (A) — IR IT B FIH BICT SHIg Bl 2 |

HRUT (R)— S99 Bact IgHel YU BT 2 |

(@) IMHAT (A) 3R BRI (R) SH 9 & |

() 3BT (A) IR BRUT (R) SFT 3 2 |

(TT) AFABAT (A) I B oIfhT BRI (R) 3N B |

(&) IABAT (A) 3 & oAfhd BRI (R) I B |

IA—(T) AMTHAT (A) I 2 fbd SR (R) 3R B |

Assertion (A)- Section is smallest unit of the Army.
Reason (R)- It has only rifle group.

a. Both Assertion (A) and Reason (R) are true.

b. Both Assertion (A) and Reason (R) are false.

c. Assertion (A) is true but Reason (R) is false.

d. Assertion (A) is false but Reason (R) is true.
Answer- (¢) Assertion (A) is true but Reason (R) is false.

1(15)

3B (A) — fgdi favagg & 9 1 AN 991 &1 yanT |
PRI (R)— I GRATY 9 MU & RRIRMT iR ARG 28’i W
ARG 13 |

(@) 3BT (A) 3R HRT (R) TFT 9 T |

(@) fABAT (A) 3R BRT (R) HT 3 2 |

(TT) AABAT (A) I & AT HRT (R) 3 B |

(&) IMHAT (A) S & oAfh BRI (R) I ¢ |

SA—(81) AMTHAA (A) A 8 dAfbT dROT (R) 9 2 |

Assertion (A)- Russia used the nuclear bombs during the Second
World War.
Reason (R)- These bombs dropped on Japanese Hiroshima and
Nagasaki cities.

a) Both Assertion (A) and Reason (R) are true.

b) Both Assertion (A) and Reason (R) are false.

c) Assertion (A) is true but Reason (R) is false.

d) Assertion (A) is false but Reason (R) is true.
Answer- (d) Assertion (A) is false but Reason (R) is true.
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Very Short Answer Type Questions

06x02=12

R B & Big &I BRI [oTRAY |
W_

1. JTHIAR

2. UfIPR IHEAR

Write any two functions of Signal Corps.
Answer-

1- Inter-communication

2- Retribution News

2

A AR I Yabldpd HHVS Bl R Rerd 57

ITR—
U1 @R (3UeHE 9 FahEaR g 998)
TS HATS g AYd HAVS & HY H S Sl ¢ |

Where is integrated command of the armoured forces situated?
Answer-

Port Blair (Andaman and Nicobar Islands) and it is known as Tri-
command and Joint command also.

Harerd HT & & BRI forlRay |
W_

1. IS I BT FEANT Bl

2. ¥GdH B9 H B BRAm

3. WP D IMHH I &l BRAT AT(Q

Write the main functions of armoured army.
Answer-

1- Supporting infantry

2- Working as a freelancer

3. Protection from enemy attack etc.

ARA & ®ls &l fAq=de® qrdil @& A foIRay |
G

1. 3gouqoTH0 fashid

2. MsousovHo farTe

3. 2MSoUAovH0 fasmHIfecy

Write the name of any two Aircraft Carriers of India.
Answer-

1- INS Vikrant

2- INS Viraat

3- INS Vikramaditya
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IS doc DR B SGeed [TRIT |
ITR—
1. 7T &Har BT o

2. STIRATAT I AT Pl fdehrd

3. aR= fHior A
4. T GRET o YR SN[ Y_T AT o7 |

Write the aims of NCC.

Answer-

1- Building leadership capability

2- Develop the sense of discipline

3- Character building

4- Creating awareness about national security etc.

Or
TR A1 BT el Bl fIRag |
W_
1. I8 e
2. YmHIvT e

Write the units of Territorial Army.
Answer-
1- Urban Unit

2- Rural Unit

T H fhdd TR &1 WIS WA § T8 Sl 872
W_

1. gRERTT Foi=

2. ARIRYT HToi

How many types of magazine are used in a Stengun?
Answer-

1- Amortized Magazine

2- Simple Magazine

Or
o I9T & Bls IR sPRR foRau |
ITR—
7.62 THUY J[g%ol, ¥ T, 3 39 HcN, 3.5 39 Jbc N IS |

Write any four weapons of infantry.
Answer-
7.62 mm Rifle, Sten Gun, 3’ Motor, 3.5”” Rocket Launcher etc.
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Short Answer Type Questions

06x03=18

A 69 & Iqavdl B feThRay |

W_

1. QT DI G18T IMHHUT A GRET BHRAT

2. T B ARG GRET Al | fue

3. JAMUST & FHY ANTREG YT BT FEINT HAT IS

Write the objectives of military organization.
Answer-

1- Protecting the country from external attacks

2- Dealing with the internal security challenges

3. Assistance to civil administration during disaster etc.

3

ARATT AAEM & AR TCURT B SMATADIei Tl foray |
IR~

1. 31J28Q 352 (918 SMMHHY G IM<RD M & FHY)

2. IV 356 (TS H Hag-dh I3 A%l 8F WR)

3. 3IJT0T 360 (G H O dde & )

Write emergency powers of the President as per Constitution of India.

Answer-

1- Article 352 (During external aggression and internal disturbance)
2- Article 356 (During constitutional machinery fails in the states)
3- Article 360 (During financial crisis in the country)

10

IRIAAT B T B 57

W_

33 W 99 STl

gaTs GRET UG Rl

AAR® 3B B AT HRAT

o T Al AT BT TSI YETH BRI

JMUST & AT ANTRG YITAT BT TSANT HRAT e

o bk N~

What are the functions of Air force?

Answer-

1- Bombing the enemy

2- Providing air defence

3- Destroying strategic bases

4- Providing support to the army and navy

5- To cooperate with the civil administration during disaster etc.

11

ARG AT & gg a1l & JHR foIRay |
W_

1. fo9ares aiq

2. faedae ora

3. ThRlc UIq onfe
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Write the types of Indian Naval warships.
Answer-

1- Aircraft Carrier

2- Destroyer

3- Frigates vessel etc.

12

AT GRET 91 & &I PBIAT BT qUH DI |

W_

1. AT BT GRETT BT

2. Ml UR Y TIB el

3. J& b AHAY AT BT FEANT HRAT

4. JMYST & FHI ANTRS TR BT FEANT AT 37

Describe the main functions of Border Security Force.
Answer-
1- Securing the border
2- Stopping illegal smuggling at the border
3- Supporting the army during war
4- To cooperate with civil administration during disaster etc.

Or
FN03MROTIOTH0 fhwal I BT BT guie HIfTT |
ITR—

1. JIRD TR T & HRAT
2. JREIT AT & BT H BRI HIAT
3. ANTR® YT Bl TSI BIAT AT |

Describe any three functions of CRPF.
Answer-

1- Protection from internal threats

2- Acting as a reserve force

3- To cooperate with civil administration etc.

13

BIRIR &1 BIg A9 fawmang forfay |
W_

UERS fdd

AR B

Il
BRI &I 73T

EERIERI
gQdl Ud 3ol

I o
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Write any three characteristics of weapons.
Answer-

1-
2.
3-
4-
5-
6-

Hitting power

Hitting distance

Accuracy

Volume of fire
Affordability

Persistence and adaptability

Or

BRIRT BT BTIeTHAT & MR WX IITHRUT BIRTY |
IR—

1.
2.

JMHHATTHD BIRIR
yfoReTTH S BPRIR

Classify weapons on the basis of functionality.
Answer-
1- Offencive weapon

2- Defencive weapon

14

Essay Type Questions 03x05=15
U & RIGIl @l [aId RAT BIfoTY | 5

o oA W N

HIESECIREREEESIE
IRt
AEATT

AeCa
fersgerar

Explain in details the principles of Administration.

Answer-

1- Foresight

2- Economy of power
3- Simplicity

4- Collaboration

5- Flexibility

6- Neutrality
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OR

REAT AT BT FIS AR PR BT BT g BT |

W_

1. el q0

2. & |fd

3. el HATGd & faumT— e fdwm, Rerm Scares fawm, <em e
AT AT, A wearer faWeT, d=9 w™al o1 famT sife

4. G HRI— &l A BT AT BRAL AR FARY BT AT
foem fiQer <1, e U™ B dgrar <A, AfFe dearT &

BT BHRAT, HIRA T3 H e ¢ XYAT 3 <

Describe the organization and main functions of the Ministry of
Defence.

Answer-

1- Defence Minister

2- Defence Secretary

3- Dept. of Ministry of Defence- Dept. of Defence, Dept. of Defence
production, Dept. of Defence and Research, Dept. of Military
Affairs, Dept. of Military Welfare etc.

4- Main functions- Formulation of defence policy, Giving necessary
guidelines to the Armed Forces, Promotion of defence research,
work of soldiers welfare, Maintaining coordination among the
armed forces etc.

15

YRAT qRYHT & [IHHT B [y Ud YHRI o1 fdaa Hiforg |
IAR—

ﬁgﬁw\y—

. TIE dT SEHTA HRAT,
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Discuss the characteristics and types of service aircraft of Indian Air
Force.

Answer-

1- Reconnaissance and care
2- Mobility

3- Flexibility

4- Rescue

5- Penetration power
6- Concentration

Types of aircraft

1- Fighter aircraft

2- Bomber aircraft

3- Blocker Plane

4- Reconnaissance aircraft
5- Transportation

6- Training aircraft

OR

URATY] 99 3R gD JATT &1 fIgd RAT HIFTY |
W_

RHTY] AT Bl FH3T—

1. TERIRMT 9R uRATY el

2. ARG IR URHATY] BHAT
URATY] J§ B YHTa—

1. gHIH BT JATT

2. T BT J9Td

3. XfSUeH &1 gWE

4. SV TR 99IG

Describe in details the atom bomb and its effects.
Answer-
Beginning of the nuclear age

1- Nuclear attack on Hiroshima

2- Nuclear attack on Nagasaki

Effects of Nuclear warfare
1- Effect of explosion

2- Effect of heat

3- Effect of radiation

4- Effect on genes
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16

oo T @ eIl iR BRI &1 v HIRT |
W_

GRS

ST heldH &HdT

. JTcHERET

K EPEU R

TR vIfdd

rferefierar

AEATT

1. Tfaeierar & a9

2. P IR T o S9 § e
3. HRiEE P =T

4. AT DI A M|

Describe the characteristics and disadvantages of Infantry.
Answer-

Characteristics

1- Optimum capacity

2- Self reliance

3- Land holding capacity
4- Strike power

5- Mobility

6- Collaboration

Disadvantages
1- Lack of mobility
2- Not able to carry much load
3- Shortage of work area

4. Lack of security etc.

OR

Ugel qeiferds &1 §RaT &1 faega quie BIforg |
W_

IO =T & 9T

1. gucforele AR

2. FASWR AR

3. gRell AR

4. \SiHCd Yford HaRr

geTford &1 HHfT

o o C (N o~
1. RGN hHA[— dqicX HRCX Wllcd, Hlsdeol tellgd, URde-d
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AT |

2. WER® HHAI— HIfSTH A e, AR wWiied, Rure
IS, QO] S WACH, IR Wi |

3. 04 XSHel HHUEN— HEAT AT, 8hd  WIed, AR,

jighe 9 AifeTq #ef=T= gu |

Describe in details the structure of Infantry Battalion.
Answer-

Part of battalion headquarter

1- Intelligence section

2- Sniper section

3- Security section

4- Regiment police section

Companies of battalion

1- Administration company- Quarter master platoon, Medical
platoon, Transport platoon

2- Subsidiary company- MMG platoon, Mortar platoon, Signal
platoon, Anti tank platoon, Pioneer platoon.

3- 04 Rifle companies- Company headquarter, Rifle platoon,
Section, Rifle or MMG group.
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